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In a meeting Rajita always begins her
sentences with ‘I may be wrong, but...’
or, ‘Excuse my impertinence, but...’
What style of communication is Rajita
following ?

(a) Assertive

(b) Passive aggressive or
Manipulative

(c) Passive

(d) None of the above

Before any negotiation, Ramesh first
met the client informally, chatted with
him and listened attentively to all his
points. Only when he gathered all the
relevant information, did he push for a
negotiation. Ramesh was a

(a) Win-lose negotiator
(b) Win-win negotiator
(c) Lose-win negotiator
(d) None of the above

Gita listened to the views of others
and then analysed them according to
their merit. Her listening style was

(a) Judging
(b) Evaluative
(¢) Active

(d) None of the above

Suppose you have a 12-hour digital
clock where the number representing
the hour is always the same as the
number representing the minute. That
is, the clock can only show times like
8:08, 9:09, 10:10, etc. What is the
smallest time difference between two
such times ?

(a) 101 minutes
(b) 61 minutes
(¢) 60 minutes
(d) 49 minutes

(A-2)
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Read these six conditional claims :

1. Ifit's an apple, then it's a fruit.

2. Ifit's a fruit, then it's an apple.

3. It's an apple if it's a fruit.

4. It's a fruit if it's an apple.

5. It's not a fruit if it's not an apple.
6. It's not an apple if it's not a fruit.

Out of these six conditional claims
which three claims have the answer as
Yes ?

(a) 2,38,5
(b) 2,3,4
() 3,4,5
(d 1,4,6

Hina Yellow, Jhanvi Red and Leena
Gray each have a gray handbag, a
yellow handbag and a red handbag,
but none of them has a handbag colour
that matches their name. They met
unexpectedly one day. The lady with
the red handbag commented, “How
odd!” to which Leena Gray replied:
“Most odd indeed!” Which option about
the lady name and colour of the
handbag is correct ?

(a) Leena Gray — red colour handbag,

Hina Yellow - gray colour
handbag

(b) Leena Gray — red colour handbag,
Jhanvi Red - gray colour
handbag

(¢) Hina Yellow - red colour

handbag, Jhanvi Red-yellow
colour handbag

(d) Leena Gray - yellow colour
handbag, Hina Yellow - red
colour handbag

(A-3)
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Read the following information
carefully and then answer the
question given below.

1. AAB means A is mother of B.
2. A@B means A is sister of B.
3.  A*B means A is father of B.
4. A#B means A is brother of B.

Which of the following means R is
uncle of T ?

(a) R*P#SAQ@T
(b) S*P#R*U#T
(¢) P*R#Q@S*T
(d) P*R@Q@S*T
Warangal Warriors, Thapar Thunders,
Rohtak Rockers and Vellore Vikings
are four Kabbadi Teams who compete
against each other so that there are

six matches in order to decide the
champion.

1. “Vellore Vikings” is beaten by
“Warangal Warriors”.

2. “Thapar Thunders” beat “Vellore

Vikings”.

3. “Warangal Warriors” and
“Rohtak Rockers” beat “Thapar
Thunders”.

4. “Rohtak Rockers” beats

“Warangal Warriors” and “Vellore
Vikings”.

Who emerges as the champion ?

(a) Warangal Warriors

(b) Thapar Thunders

(c) Rohtak Rockers

(d) Vellore Vikings

(A-4)
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The afternoon classes in a school begin
at 2:00 P.M. and end at 4:52 P.M.
There are four afternoon class periods
with 4 minutes between periods. The

number of minutes in each class

period is
(a) 39
(b) 40
(c) 36

(d) 45

At a party there are 3 large pizzas of

equal size. Each pizza has been cut

into 9 equal pieces. 8 of the first pizza
9
has been eaten; 2 of the second pizza
3
has been eaten,; g of the third pizza

has been eaten. What fraction of the

3 pizzas is left ?

2
(a) 5

(b)

ISR

(c)

Lo

(d)

o

9.

10.

(A-5)
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11.

12.

13.
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The three volumes of Encyclopedia of
Animal Kingdom sit in order on a shelf
with no space between the volumes, all
upright, so that their spines are
visible, left to right : I, II and III.
Each is 30 mm thick, comprising
24 mm of total pages and 3 mm for
each cover. A bookworm bores from
page 1, volume I, to the last page of
volume III. How far does it travel ?

(a) 90 mm
(b) 36 mm
(c) 72mm
(d) 84 mm

According to a survey at a company,
20 percent of the employees owned cell
phones in 1994, and 60 percent of the
employees owned cell phones in 1998.
From 1994 to 1998, what was the
percent increase in the fraction of
employees who owned cell phones ?

(a) 3%
(b) 20%
() 30%
(d) 200%

From 2018 to 2019, Mohan’s annual
salary increased by 10 percent and
Arun’s annual salary decreased by
5 percent. If their annual salaries
were equal in 2019, then Arun’s
annual salary in 2018 was what
percent greater than Mohan’s annual
salary in 2018 ?

(a) 1691
(b) 13-34
(¢) 1578
(d) 10-98

(A -

11.

12.

13.

6)

fearfeamitsnT nie WETHS fdasH
5% It famr fx G5t fegarg a=t &
& Ht | At BUT & (upright) 3°
fa Bat = fug® fJAT (spine) fer, ¥y
I HY L I3 1L 99 ' & Herst
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fqse € 3 mm e I | fex fazt
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Tomdt Ud S¥ ec ader J | B 3
ot w39 i3t ?

(a) 90 mm

(b) 36 mm

() 72mm

(d) 84 mm

JUBT feg AI=YS © MigAg, 1994 feg
20% SIHIST A%SSs JuE AS N3

1998 feg Ut © 60% JAIHIIT HS
S5 JUY AS | 1994 3 1998 S A®es

%) N

(fraction) TSd I
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(a) 3%

(b) 20%

(c) 30%

(d) 200%

2018 3 2019 3, HIs T A
35yt feg 10% TUr Ifen i3 nige
T A®aT 35U 5% W3 | Aad 2019
3t 2018 feg nige & 3I5UT Hus <
2018 T 3IxuT &% fdal yItHs U
At 2

(a) 1691

(b) 1334

(c) 1578

(d) 10-98



14. A candidate scores 20% and fails by
45 marks and another candidate who
scores 45% marks gets 30 marks more
than the minimum required to pass
the examination. Find the maximum
marks for the examination.

(a) 100
(b) 200
(c) 400
(d) 300

Directions (. No. 15 - 16) : Based on the
information given below and diagram of an
Airline’s trips to 6 cities from New Delhi in
the year 2015 :

Distances from
New Delni by Air
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Information :

1.

15.

Due to some reason planes only made
these the
January—March period.

The month of May offers the Dbest
weather conditions.

trips before or after

The easterly winds run at 2 km/hour
east to west all year.

Planes on trips to Ranchi and Kolkata
must push against the easterly winds.
Planes on trips to Panaji, Pune and
Kavaratti are carried along by the
easterly winds.

Planes on trips to Munnar cross the
current and so experience no counter
or favourable effect.

How far is it from Ranchi to Munnar ?

(a) 3000 km

1.

15.

(b)
(c)
(d)

2000 km
800 km

Cannot be determined

16.

Paper Il

Taking account of the distances and
the winds, if a plane were to fly from
New Delhi to Kolkata (to and fro) and
another one from New Delhi to Pune
(to and fro) at a constant speed, which
trip would you expect to be completed
quicker ? (No stoppage)

(a) New Delhi-Kolkata (to and fro)

(b) Both trips would take the same
amount of time

(¢) New Delhi-Pune (to and fro)
(d) Cannot be determined

16.

(A-8)
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Directions (Q. No. 17 - 18) : BMI is
defined as being the mass of a person (in kg)
divided by the square of the height (in
metres). The data about 5 persons has been
given in the table below.

Person | Height (m) | Weight (kg)
A 1-45 45
B 1-50 50
C 1-55 55
D 1-70 60
E 1-80 70

Based on this data answer the questions
below :

17. Which of the following has
greatest BMI ?

the

(a) A
(b) B
(¢ C

(d D

18. If an adolescent’s height increases by
10% and his mass by 10%, by how
much will his BMI change ?

(a) Plus 11%
(b) Plus 10%
(¢) Minus 9%

(d) Minus 10%

Paper Il

(A -

TerESt (YAE 37 17 - 18) : A nrel. 3
fenierst & ers (1B 1€9) w3 de/Gast
(Hleg) € mang & 5 a1 UlaeiHs &St
Fier G | BHE 2855 e9 5 feniasiv €
Was 183 JE I |

Sarst TS
S| sy | (s
A 1-45 45
B 1-50 50
C 1-55 55
D 1-70 60
E 1-80 70

v 839 fe& :
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(a)
(b)
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g a @ »

18. 79 fox feaArt® fenast & T w3
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gtH.nret. feg o ufgedss nrear ?
(a) UBH 11%

(b) UBH 10%
(c) HEIBH 9%
(d) HESH 10%

9)



Directions (Q. No. 19 - 20) : Answer the following questions based on the information and
diagram given below :

An automobile company has advertised for the appointment of trainee engineers in
different disciplines. First the applications received are thoroughly scrutinized and good
ones are called to the main centre of the company for two written tests and a viva. The
written tests are of 2 hrs duration each.

The first written test E; checks the general scientific background and the second written
test E, checks the basics of the discipline. Earlier all the candidates were required to
appear in both E; and E, but only those who clear both were allowed to appear in the viva
for final selection.

To minimize the cost, the company has decided to change the procedure. Now they want to
conduct this exam in three stages.

In the first stage they may offer the candidate to sit in either written test (E; or E,) and if
s’/he passes in that he/she will go for next stage in which company may take his/her other
written test or viva. If he passes in this second stage, he will go for the remaining exam in
third stage.

A candidate has to pass both the exams and viva for final selection. A candidate is rejected
if s/he fails at any stage. The expenses are ¥ 500 per candidate for conducting each of E;,
E, or Viva (V). The following historical data for 100 candidates is available from previous
selections.

Out of 100 Candidates Appearing in First State

Cleared E;
but fail i
Ut rarep After First Stage Out of 60 Candidates
(Who Cleared E, Test)
Cleared E Cleared Viva
but failed )
€ d 1m El

After

First

Stage
Out of 70 Candidates
(Who Cleared E; Test)

Clearf?d E Cleared Viva
but failed : ailed in E,

Paper Il (A-10)
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19.

20.

Paper Il

What is the ratio of the “percentage of
candidates clearing E, exam in second
stage after clearing E; exam in first
stage” to “percentage of candidates
clearing E; exam in second stage after

clearing E, exam in first stage” ?

(a) %g
(b) %%
o 13
(d) %%

What is the percentage of candidates
who are failing in second stage viva
exam after clearing E, exam in first

stage ?

(a) 66:7%
(b) 75%
() 25%

(d) 33:3%

19.

“ufg®t ASE 3 E; € udiftmr um
a96 Quds TAJT AW 3 E,
ydtemir U9 96 Teet &t
YStH3s™ i3 “ufod Aew 3 E, ©F
ifemm uTH 395 Guds AT AcH 3
E, ©F iftor uR 95 Tfent” =
yStassT & 37 &8t I 2

4,

(a) %%
(b) g%
(c) %%
(@ %%

20. S5t Sfteegt & Ytz fdat T A

(A-12)

Ufa®t Aew feg E, udifam™ uH 3395
§ud3 ATt Aew v At udtfmr

(viva) feg é’& Iz ?

(a) 66'7%

(b) 75%

() 25%

(d) 33:3%



Directions (Q. No. 21 - 22) These
questions are based on the information and
diagram given below :

A survey was conducted on a sample of 500
cinema artists with reference to their
proficiency in the skill of acting, singing and
dancing. The results of the survey are
depicted in the given Venn diagram.

o

Dancing

Acting

Singing

21. What is the ratio of the number of
cinema artists who are not proficient
in any of these three skills (X, to
those who are proficient in all three

(Xy)?
(a) 5:7
(b) 6:7
(¢) 3:5
(d 1:9

22. 1If all other data remains same, how
many cinema artists who are not
proficient in any of these three skills
should become proficient in all three,
so that the above said ratio between
number of cine-artists who are not
proficient in any of these three skills
(Xy) to those who are proficient in
all three (X3) should now become

Xp:Xg=1:47
(a) 12
(b) 21
() 15
(d 10

Paper Il

TETEST (YRS 3 21-22) : [ET yAF 319

1€3T FIaT #3 3aH 3 9T IS

500 fREH™-T®AGT & &HS € »Eddr &
J549, darfes i3 fa3 & IAS3T © 9 5
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(e

21. frdw Iwag = fegt oo’ fan & gog
feg A% &dt 76 (X)) 3 THoHT e

7 fest f3at feg gaave o6 (X,) & I/
(ratio) st T ¢

(a) 5:7

() 6:7

(c) 3:5

d 1:9

22. Hag gt wiazT &g gfger

5 I5, 3z Baf feg A T AT 3t A
Bug nifas fASHT q@aat 7 fam &
759 feg gp® &0t 75 (X)) 3 # f3&
59t Xy feu an® gs & 97 T=
XO:X3=1:48'E1_—|"%I

(a) 12
(b) 21
() 15
(d) 10
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Directions (Q. No. 23 — 24) : Based on the information given below in diagram for Flight
booking price scheme :

1

Select a
destination

o a w »

g aa ww >

2
Select a
flight

08.00 Rs. 22500

17.00|{ Rs. 7500

06.00| Rs. 14200

21.00| Rs. 9800

11.00| Rs. 6300

22.00| Rs. 7200

08.00| Rs. 8000

16.00| Rs. 10400

3 4
Select number| | Select further
of passengers options

1{213]4 Luggage in
1{2(3]4 hold

oo aa selee] > P>
—
[\
o
'y

Travel
insurance

Yes

Environmental
offset

* These additional costs apply to each passenger per flight

* Add Rs. 2000 per item

* Add Rs. 900

* Add Rs. 350

Proceed to
checkout

TEMEST (YHG 3+ 28 -24) : TSE] FlAd &IHF AAM &9 31 €THE] FI&T 3 mq71aF

c a w » (ara’a*‘

oo aa wWw =

08.00 Rs. 22500

17.00| Rs. 7500

06.00| Rs. 14200

21.00| Rs. 9800

11.00| Rs. 6300

22.00{ Rs. 7200

08.00| Rs. 8000

16.00| Rs. 10400

3 4
HAreg &t NIABI
fasftge | | feamu ge

112|314 " AHS

112(3)4

oo o ww >
—
[\
w
'S
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eiecy
it

-y #2000 JUT wrfeer & =T
— T | #900 quE =T

g9 W8e

*350 JUT TT

“feg T dH3T 99 vATed 3 yIt exrdie B Jdftart

(A-14)



23.

24.

25.

Paper Il

How much more is the cost of a | 23.
morning flight compared with an
afternoon flight for a family of four to
destination B with travel insurance
and total three items of hold luggage ?
(a) T9,600
(b) 22,800
(c) T4,400
(d 17,600
A party of three book to fly on the | 94
afternoon flight to destination C and
opt for total two items of hold luggage
and the environment offset. How much
is the cost of their trip ?
(a) T 26,650
(b) ¥ 25,600
(¢) < 26,300
(d) ¥ 27,600
Set M has 42 students and set N has
60 students. At least 12 of the 95
students in set M are not in set N. )
Which of the following cannot be the
possible number of students in set N
that are not in set M ?
(a) 32
(b) 45
(c) 28
(d) 42
(A-15)

g9 Hyar 2 fea ufgea s, ¥fas B
I dHT »3 AH AN ot f35
ifeeHt &% 39T J96 BT ALI ©f
eHEe ge Tfudd & THTe &%
fdat U THz &1 T 2

(a) ¥ 9,600
(b) T 22,800
(¢) T 4,400
(d T 17,600

35 feniasSot € AHT & C Higs Bet
ge TUIT @ BT § ¥ (book)
azT | Bt 3 AW AHe Ehf @
nifeeHt W3 TI=IE e AT § mine
3T | Bt & fer w39 & I o
J=att 2

(a) ¥ 26,650

(b) ¥ 25,600

(¢ ¥ 26,300

(d ¥ 27,600

M Fe feu 42 fefenraet g6 i3 AE N
feg 60 fefonraet g5 | W We M /S
T 12 fefenrget AE N feg adt I& |
fors feg' AZ N 2 niffg f3& Agfes
fefanragt adt’ 7 Aae A & A M feg
ad1 IS ?
(a) 32
(b) 45
(c) 28
(d) 42




217.

28.

26. When the following shape is folded to
form a cube, which is the only one of
the options from A to D that can be
produced ?

[
Rk
O
Options from A to D
A B C D
(a) A
(b) B
(c) C
@ D 21.
A container of milk was % full. When
5 bottles of milk were taken out and
3 bottles of milk were poured into it, it
was % full. How many bottles of milk
can the container contain ?
(a) 12
(b) 24
(¢) 20
(d 15
The cost of mowing a square lawn at 28.
the rate of INR 700 per hectare is
INR 4,375. The cost of putting a fence
around the lawn at the rate of
INR 45-45 per meter would be (in INR)
(a) 10,000
(b) 43,750
(c) 45,450
(d) 25,000
(A-16)
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26. A< foHs wag § faGy feg W3

Ufgeafss iz 7w I 3T A 3 D 3
<% fagst viurs JeT J Aaet 9 2

Ral

PP

(a)
(b)
(c)
(d)

E”UETQE%W‘&WH?|H—€
5 §3% TU It T i et
w3 f35 @3% gu it ur i
A | 90 @ 9% feg et €0 dnrt
3% U A I8 ?

(a) 12

(b) 24

(c) 20
(d) 15

e FomT gdflo & Jeeet & AH3
INR 700 Y3t Joeg © forg &
INR 4,375 J | a9 & 99 UH T3
HArBE T aTH3 INR 45-45 Y3t Hieg ©
farrg % faat d<dt (INR fe9)

(a) 10,000

(b) 43,750

(c) 45,450

(d) 25,000

o
N\

O aw >




29, If>=+, <=+, x==and # = —, then

which of the following equations is
correct ?

(a) 24x4>20<2#16
(b) 24<4>20#2x16
(c) 24#4<20x2>16
(d 24>4x20<2#16

Directions: (Q. No. 30 — 33) : Read the
following information and answer the
questions using this information.

There are five boys, p, q, r, s, and t, sitting
in the first line facing south. However, there
are five girls, A, B, C, D, and E, sitting in a
second line parallel to the first line and are
facing to the north. The boys and girls are
sitting in such a way that

e A s sitting at one end of the line.

e q who is just next to the left of s, is
opposite to E.

e B and r are diagonally opposite to
each other.

e t is opposite to C who is just next
right of A.

30. Which pairs are sitting opposite to

each other ?

(a) CD andrt
(b) AC and sp
(c) CD and ts
(d) DB and sp

Who is sitting third to the right of C ?
(a) B
(b) D
(e A
d E

Which of the following pairs
diagonally opposite to each other ?

(a) Ct
(b) Eq
(c) Ap

31.

32. is

(d) Dp

Paper Il (A -

29. Had >=+, <=+, X==M3 #=—, 3"
fest feg' faost fea=ms (equation)

Bt I 7

(a) 24x4>20<2#16

(b) 24<4>20#2x16

(c) 24#4<20x2>16

d 24>4x20<2#16
TeTEST (YAG 3+ 30 - 33) : [6ME FIBT 3
°F w3 ypsT & 839 FesT 3 eIsfon
Iremrt a6 |
lj?f?ﬁ’g(, p,q,r,s@tmmﬁg
YT AoHY 88 I5 | 3fcs, Ud 3 I,
A, B, C, D w3 E 7 Ufgdt a379 & ANE39
TAdt 39 feg €39 meHy 8 I5 |
e ATIITEINZfTET T |
e st fEgEH ¥y, ET feudts T |
e B m3 r fex TAT © 3Ifodwsl

foudts o5 | )
e t,CTfudz I A fa A T feaeH
AT |
a3 d< fea grAv T feudts 88 95 ¢
(a) CDM3 rt
(b) ACM3 sp
(c) CDWM3ts
(d) DBM3 sp
C ¥ A9 UH StHIT 3T JoT J ?
(a) B
(b)
(c)
(d)
fons gt feg foa3
THJ ¢ feuds I8 7
(a) Ct
(b) Eq
() Ap
(d) Dp

30.

31.

D
A
E

32. Sfodges fex

17)



33. If C and D, p and t and q and E
interchange their positions, then who
will be the second person to the right
of the person who is opposite to the
person second to the right of D ?

(a) r
(b) p
(¢ E
d C

Directions (Q. No. 34 - 35) : Read the
following passage and solve the questions
based on it.

Amit, Bharat, Chandan, Dinesh, Eeshwar
and Ferguson are cousins. None of them are
of the same age, but all of them have
birthdays on the same date. The youngest of
them is 17 years old and Eeshwar, who is
the eldest, is 22 years old. Ferguson is
somewhere between Bharat and Dinesh in
age. Amit is elder to Bharat and Chandan is
older than Dinesh.

34. Which of the following is not possible ?
(a) Dinesh is 20 years old
(b) Ferguson is 18 years old
(c) Ferguson is 19 years old

(d) Ferguson is 20 years old

35. If Bharat is 17 years old, then which of
the following could be the ages of
Dinesh and Chandan respectively ?

(a) 18 and 19
(b) 19 and 21
(¢) 18 and 20
(d) 18 and 21

Paper Il

33. 759 C M3 D, p M3 t, q W3 E
3z fonast niffd fenest © A9 3°
THIT J=dr 7 DT AX 3 TAT fonmast
3 feudis o7 3 2 )

(a) r

(b)
(c)
(d)

Q =

TS (YFE 3 34-35) : 1615 UF 3 UF
W3 EH 3 mlas YAST 3 I8 &I 1

w3, 393, IT, [CoH, TASI ni3
TIIAS s (cousins) I& | fEat feg’ It
g fex 8HT = &t T uI3 Arfomt T AeH
fos & fea it 9 | fet fog 78 3 2
17 A% €7 J w3 A<, A8 3 @37, 22 A
T J | SIdFs BHI few fa3 393 w3
fedr @ fegd T | »ifH3 393 3 33T T
w3 des 3R 3 3JJ |

34. fEgt feg ot Aze &t T ?
(a) fedm20m® v J
(b) TIIHG 18 A®' @7 J

(¢) TIIHG 19 A®' T7 J

(d) TIITAS 20 A =7 J

35. Hdd 393 17 A& & J 3T foHs feg
fE&H »3 Je6 ©f BHT gqHe9 fagst I
ASET I 2

(a) 18m3 19
(b) 19m3 21
(c) 1803 20
(d 18m321

(A-18)



Directions (Q. No. 36) : Read the following
statements and solve the question based on
these.

A.

®# o Qv

37.

Paper Il

Many ones are threes.
All twos are fours.

A few ones are twos.
All fours are threes.

All twos are threes.

In the four options given below, three
statements are put together in a
specific order. Choose the option which
indicates a valid argument, that is
when the third statement is a
conclusion drawn from the preceding
two statements.

(a) DEB
(b) ACE
(c) CEA
(d EAC
Which of the following statements
follows logically from the statement

“India will talk, only if the terrorists
are handed over” ?

(a) The terrorists are handed over,
hence India will talk.

(b) India will not talk implies that
the terrorists have not been
handed over.

(¢) India will talk though
terrorists are not handed over.

the

(d) India will talk implies
terrorists are handed over.

the

TETES (YHS 3- 36) BT : 515 JG5 UF
w3 ST 3 mralas yFaT 3 98 &9 1

5 O o % »

317.

(A-19)

gg3 ATJ &7 B T& |
A 2 297 5 |

I8 AT g IS |

A e9d HIg I |

AJ 2 B9 I |

fery g feo A3 912 I8 | 89 nums
ge A< f& A9 IEs ufa® €< Es

T foraen dF € ynfes ©8ls 92 |
(a) DEB
(b) ACE
(¢c) CEA
(d) EAC

fEst aEet fod fJo3™ JEs s qu

Aag mMEgeemt § Afimr famm” feg*

foa@er T 7

(a) wr3aeEet § Afimr fomr 3,
R ®et 3793 9% JAJar |

(b) I3 i &l A9 I I J X
famrm |

(¢) 393 IS FIdr T MBI
& Afipr &t famr |

(d 393 % FJar I FT I f
mEaer BY dE |




38. At a buffet, six sweets are arranged in
a circular order on a table. Burfi is
opposite Halwa. There is one sweet
between Laddu and dJalebi. Gulab
jamun is to the right of Halwa.
Rasagulla is one of the sweets. Which
sweet is two places away to the left of
Gulab jamun ?

(a) Laddu
(b) Rasagulla
(c) Jalebi
(d)

Halwa

39. A team of three is to be selected from
six persons — Pavan, Sravan,
Raghavan, Aman, Dhawan and
Bhavan, such that if one of Pavan and
Sravan is selected then the other must
not be selected. If one of Raghavan
and Dhawan is not selected then the
other must not be selected. If Aman is
not selected then who must be
selected ?

(a)
(b)
(c) Raghavan
(d)

Bhavan

Pavan

None of the above

Directions (Q. No. 40 - 41) These
questions are based on the following
information.

Pavan, Sravan, Charan, Tarun and Kiran
are the top five rankers in a class, not
necessarily in the same order. Each of these
five is of a different height. The tallest
person is the fourth ranker while Kiran is
the second ranker. Tarun is taller than at
least two persons and is the third ranker.
The shortest person is the first ranker but
he is not Charan. Sravan is taller than only
one person and Tarun is taller than Kiran.

Paper Il

38. 3¢ f&9, = fHogit =& €3
JoEeg gy feg feerfas s
et | §9eT %R © fud3 T | ¥
m3 Aedr ¥ fegag fea fieet T |
&g THS I%< © Ad U'RH J | IR
& fhoght feg' fex T 1 faost
fHoet &g THS & ¥9 UA 3 &
AES UJ J 2
(a) ®F
(b)

(c) T

(d) IB<
39. U5, ASS, JUTH, NMHG, U6 M

<

3t gAgr saHt 39 3 o0t gfenr
TS | JUWSs W3 U6 oo Aag fox
&t gfonr Afer 3t gAgr &t 39 3

&It gfenm A= | Ad9 MHE &It
ar |

(a) S<&

(b) U<&s

(c) JUWSS

(@ €3 feg ast &t

TeTEST (YRS 3: 40 - 41) © FT YFS I5
1e3T FoaT 3 nraifas I& |

USs, AS6, 996, 398 i3 fdds a&H <9
ufg® Ua §93H I & Ts, Tgdt adt fen
gy feg | fEst Jat feg' 99 fea & Sugr
JeJ | A8 3 B fonast 98 II 3 J, A
& fa9s TAT I 3 T | 39T WS e ©
fenaSott 3 &g T w3 87 = AT I
J | A% 3 EC T % Ufg® I T J U9
87 995 a4t I | HEs d=w fea foniast 3°
FaT T, 39T fo9e T BT T |

(A-20)



41.

42.

43.

40. Who is the fourth ranker ?

(a) Charan
(b) Pavan
(c) Sravan
(d) Tarun

41.
How many persons are taller than
Pavan ?
(a) One
(b) Two
(c) Three

42,
(d) Four
There are five rooms in my house — a
hall, kitchen, study room, bedroom
and dining room. There is one light in
each room. Whenever the kitchen light
is on, the study room light is off.
Whenever the dining room light is on,
the kitchen light is also on. Whenever
the study room light is on, the hall
light has to be on. How many lights, at
the most, can be on simultaneously ?
(a) 5
(b) 4
(¢) 3
d) 2

43.
In a joint family of seven persons A, B,
C, D, E, F and G, there are two
married couples. G is a housewife. C is
the wife of B. A is the granddaughter
of G. D is the father-in-law of C and
father of E. F is A’s brother and B’s
son. How is B related to E ?
(a) Sister
(b) Uncle
(c) Cousin
(d) None of the above

(A-21)
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40. 99 I famer I 2

(a) 9IS

(b) U<&

() H<oO

(d) 3de

Ues 3 %Y fds fenast g ¢
(a) f&a

(b) <

) f35

(d) 99

HY wT o8 UA 1T 96 — T%, JAE,
ASST IH, 8 IH, STEféd g1 | I3
T feg feq sete I | A & IREr
feg et mat I I, Aest gH &
el g€ Jet J | A < sreféq gH
@ Ete mat It 9, IR € wEle
g Aot JeF I | AT AeST gy < HEle
At J€t I 3t I® & gEle I oAt
3 TSt 9 1 fead AN farer 3
AT I5 7

(a) 5

(b) 4

(c) 3

(d) 2

A3 HEdT A,B,C,D,E, Fni3 G ¥ fex
Ades ufgee fg, © feofos A3
I&5 | GuIS u3dt I | C, B & ysat
I I A G AIsSeIT | D, Cwr
AT I3 ET fusTd | F,Aer 37
INMIBTUITJI | BTE &5 ot
fomsT 3 7

(a) d&

(b) VIS

(€ s

@ B3 feg' =t ot



44. A bartender stole vodka from bottle A

45.

46.

Paper Il

that contained 50% alcohol and he
replaced what he had stolen with
vodka from bottle B containing 20%
alcohol. He used water to replenish
bottle B, which is twice as large as
bottle A. After the mixing, alcohol
content of bottle A reduced to 30%.
What is the alcohol content of bottle B
now ?

(a) 6:67%
(b) 10%

(¢) 13:33%
(d) 15%

Rate of consumption of coal by a
locomotive varies as the square of the
speed and is 1000 kg/hour when the
speed is 60 km/hour. If the coal costs
the railway company 15 paise/kg and
if  the other expenses are
12 rupees/hour, what becomes the
total cost with a speed of 30 km/hour ?

(a) 270 paise/km
(b) 165 paise/km
(c) 495 paise/km
(d) None of the above

A completes % of a certain job in

6 days. B can complete % of the same

job in 8 days and C can complete % of

the job in 12 days. All of them work
together for 4 days and then A and C
quit. How long will it take for B to
complete the remaining work alone ?

(a) 2-67 days
(b) 3-33 days
(c) 4days

(d) 4-67 days

44.

45.

46.

(A-22)

ffqd 9939 ¥3% A AR feg 50%
WHAIS J, &g ear gIT e J vis
7 gIfenr Jer I 87 & 3% B, fAA
feg 20% »EITS I, T ITT 5% IS
T I GUEB B, A8 AT E
JT M9 & I, UEl 3% 9 F YIT
g féder I | fHoee 3 gme, 935 A
feg niwda® @ H=9T we F 30% Ifa
Al I | g §3% B feg niddow
H3TT fdat T 2

(a) 667%

(b) 10%

(¢) 13-33%

(d) 15%

Jue f&rs @9 &% ©f yus « I,
G@B’H%Eﬁ\(m—d’(square)?ﬂ'&w%
3 A IE39 60 fawHies ys3t uer
Jot T 37 & 1000 faBder I | A9
a% = dH3 IS JUsr § 15 UR/fIS
Udt I i3 759 99 ¥d9 12 JuT/UfeT
Js 3t 30 fasHtegnler 2 forg &
% STHS fIar Uet T 2

(a) 270 YA/

(b) 165 UR/
(¢) 495 UR/
@ Baz feg a=t adt

Afsa&’ww%ﬁwé%#fegg?

[

[

W%IB@#F%&J’H‘” s
fest feg yIm a9 AaeT I »3 C B
é’ww%ﬁw” 12 fest feg a9 Aaer
J | A9 g9 fes fEad dH a9e I |
SJ ANS CE3 A Is | B gt
st AHT Harar 2

(a) 267 fe®

(b) 3-33fes

(¢c) 4fes

(d) 467w




47.

48.

49.
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A book contains 10 chapters. Each
chapter has a different number of
pages, ranging from 20 to 30. The first
chapter starts on page 1 and each
chapter starts on a new page. What is
the largest possible number of
chapters that can begin on odd page
numbers ?

(a) 9
(b) 8
(c) 6
d 5

A ladder reaches a window that is 8 m
above the ground on one side of the
street. Keeping its foot on the same
point, the ladder is twined to the other
side of the street to reach a window
12 m high. Find the width of the street
if the ladder is 13 m.

(a) 152m
(b) 14m
(c) 146m
(d 12m

Sanjay writes a letter to his friend,
Kesari. It is known that one out of
10 letters that are posted does not
reach its destination. If Sanjay does
not receive a reply to his letter, then
what is the probability that Kesari did
not receive Sanjay’s letter ? It is
certain that Kesari will definitely
reply to Sanjay’s letter if he receives
it.

10

(a) E

(b) —
(o0 —

d —

47. fex yr3x feg vA viftmrfe 95 | I9

48.

49.

(A-23)

niftnrfe feg 20 3 30 3 VBT Vidar
fosst © U g5 | ufagsr miftmrfe dar
399 1 3 5g de' J »=3 I9 niftmrfe
a2 U3 3 gy Jer I | frammer T
fomer fdd  Asfes  fasst =@
mfmE, ¥iE (0dd) Wi T US &%
V98 I AdE IS 2
(a)
(b)
(c)
(d)
fea U3 Acdte © fea uw uast T
|

oL & o ©

8 Hieg U9 <t fuzdlt 3x AT I
gr fig 3 U9 Jufent Ifent I5F
ACdte € €AJ UTH 12 Hieg §4t fuzat
3IX UJoE BT Hiznr famr | Ad9 Ut
13 Hted J 37 ASX ©F 93T &3 |

(a) 15-2Heg
(b) 14 Heg
(c) 14-6Heg
(d) 12HeT

I | fgo uzT I & 3= feg U @A
UYJdogeT | Had HH § mE U39 =
Aeg adr fH®er 3t fem & Hewe
(probability) ot I f& SAdt § A =
U39 &dt A fufenr ? feg ferfos T
8 3 UsT yus J A |

(a) —

() —

() —

(d) —



50.

51.

Paper Il

In a school, a total of 180 students are
enrolled in the foreign languages

program. The foreign languages

offered are French, German and
Chinese and the number of people
studying each of these subjects are 80,
90 and 100 respectively. The number
of students who study more than one
of the three subjects is 50% more than
the number of students who study all
the three

students

subjects. How many

study all three foreign

languages ?
(a) 18
(b) 24
(c) 36

(d) 42

Three alarm clocks ring their alarms | 51,
at regular intervals of 20, 21 and T
minutes respectively. If the clocks
beep together at 12 noon, for which
value of T would they beep together
again at the earliest ?
(a) 8 minutes
(b) 18 minutes
(c) 28 minutes
(d) 38 minutes

(A-24)

50. fex Ag® feg feordt gt T Yoo

feg 180 fefenragt vum JT | foaf
feordt A= & UASH T

80, 90 w3 100 J | fEaf fog fex 3
fa=st Gat fefonraant 3 7 feg 38
fen uge I8 50% frmer & 1 &8
Js

(a) 18
(b) 24
(¢) 36

(d) 42

20, 21 M3 T fiat 3 »uE nisIH
TARY I& | Axg ue 12 7 Thuag
feafeontt niem foe Is 3t T & faA
By &% gag fedfont A%eEr 3 AST]
e 94T ¢

(a) 8fHe

(b) 18fHe
(c) 28fHe
(d) 38fie



52.

53.

Paper Il

A person of 6 ft. height wants to pluck
a fruit which is hanging at ith
distance from the top of a 20 ft. high
standing at a
distance of 28 ft. from the tree throws

a stone, which hits the top of the tree.

tree. The person

The man moves towards the tree and
throws another stone again at the
same angle, this time hitting the fruit.
Assuming the stones travelled in a
straight line from the hand till the
target, what is the current distance of

the person from the tree ?
(a) 21ft
(b) 18ft
(c) 15ft

(d) 9ft

The cost of 10 pears, 8 guavas and
6 mangoes is T 44. If the cost of each
of the fruits, in rupees, is a natural
number and cost of no two fruits is the
same, find the cost of 4 mangoes and

3 guavas.
(a) T 17
(b) <18

(¢c) T14

(d) Cannot be determined

52.

53.

(A-25)

fex 2 g2 BT fona3t, 20 dc &9
Eﬂlﬂ‘o’%’,fﬂw?igﬁémaﬁ
TH S IJST ILT J | TIYI I 28 <
T I 3 ugT foniat feq Ued Hewr I
7 Toy3 © fAug 3 &der I | nieHt
(M%) 3 fex 99 U89 Heer J ni3
fer =9t B8R €% 3 wawr I | feo
fenta3t € gz Tous 3 Tt fdat T ¢

(a) 218<
(b) 188<
(0 158<
d 9g<

10 aTHUST, 8 MHIE W3 6 nigh =f
AHI T 44 T | 79 I9 % o AH3
quT feg fex FEI3T WiF (natural
number) I M3 fIH € B T HI
fed fAdt & T 3T 4 vigt o3
3 niHget & dHS TR |

(a) T 17
(b) T 18
(c) T 14
(d) forfgz &dF 3T 77 Ao



Directions (Q. No. 54 — 55) : Read the
following information and solve the
questions based on it.

Shakuntala, an intelligent baby girl, plucks
apples from her father’s orchard on ten
consecutive days. When asked by her
mother as to how many apples has she
plucked from the orchard daily, she gives
the following sheet to her mother :

Figure 1

200
180
160
1401
120
100
80
60
40
20

Sum of the apples for the
given three days

(=]
—
+
o
¥
o]

five days
&
it

Sum of apples on given

1+2+3+4+5
2+3+4+5+6
3+4+5+6+7
4+5+6+7+8
5+6+7+8+9
6+7+8+9+10

Five days taken at a time

54. What is the number of apples plucked
on day 6 ?
(a) 45
(b) 35
() 25
(d) Cannot be determined
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55. For how many days, is it possible to
determine the exact number of apples
plucked by Shakuntala ?

(a) 0
(b) 5
(c) 3
(d) None of the above

Directions (Q. No. 56 — 58) : The following

table gives the career record in One-Day

International Cricket of few batsmen.

55. fds oot ®t, AGS® =% 33 AT @
At forest § B3 Age 7 ¢
(a 0
(b) 5
(¢ 3
d B3 feg agt &t
TETES" (YAS 37 56 - 58) . 16HE I IF
IBIFHT T [Eor TAT NFITHST! Ioferd AT
g foags I3 |

The average is calculated by dividing the
total runs scored by the total number of
matches in which the batsman got out.

56. Who among the following did not get
out for the maximum number of
times ?

(a) P1
(b) P2
(¢c) P5
(d) Pe

57. If the average is calculated on the
basis of the total innings played,
whose average will see the minimum
change ?

(a) P1
(b) P3
(c) P5
(d) P6

58. How many of the batsmen got out in
all the innings played ?
(a 0
(b) 1
(c) 2
(d) Cannot be determined
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Name I\;I)thhzs Ilrjllnin,g:is SRunsd Average = I o | e | 5= e
aye aye core ﬁ ﬁn I=
Pl 50 18| 1800 | 400 P1 | 50 48 | 1800 | 400
P2 50 50 | 2034 | 45-2 P2 | 50 50 | 2034 | 452
P3 | 46 46 | 1679 | 365 Ps | 46 46 | 1679 | 365
P4 44 44 1539 40-5 P4 44 44 1539 405
P5 40 38 1806 516 P5 40 38 1806 51-6
P6 42 40 1445 42-5 P6 42 40 1445 42-5

WHS (average) 3 I%gH eTT 4% IS €
faest vz g5 HY fist feg d&9w e 3
famrm 3= & 23 &% niffan JeT T |
56. fors feo fxosT T 7 HaAH (U 3
JU) T9 »r@e &It Ifenr ?
(a) P1
(b) P2
(c0 P5
(d) Pe
57. W39 A3 § vt fefsag € o9 3
niffant A2 3t foar ©F wiAs feg e
Wz IS vt ?
(a) P1
(b) P3
(c0 P5
(d) Pe
58. fd& d&aw Adt udhnit fEfsam feo
nrge JT ¢
(a) O
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(c) 2
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Directions (Q. No. 59 — 60) : Refer to the following line charts and solve the questions

based on it.
155 Dollar/Rupee
- - . Pound/Dollar g, 2otar/Yen
455 —N \ 16 0srg
45 \‘ 15 v AN
: 106.5
445 v 108 ¥
44 1.3 105.5
17 19 20 21 24 17 19 20 21 24 17 19 20 21 24
June June June
59. If the Dollar/Yen ratio follows the same trend from 24 to 27t as from 215t to 24th,

60.

then what will be the value of $ 50 on 27t? June ?
(a) 2,000 Rupees (b) 5,400 Yen
(¢) 6,000 Yen (d) 3,000 Rupees

A jacket costs $ 400. Mohan has ¥ 18,200, 225 Pounds and 35,000 Yen with him. If he
can use only one currency to buy the jacket, he would be able to buy the jacket on
20th June using :

(a) 18,200 Rupees (b) 225 Pounds

(¢) 35,000 Yen (d) Cannot be determined

TEREF (YFE 3+ 59 - 60) : THe! S 3 Sufens 857 3 wrfds yEsT € 9% &9

EXSIGRES
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59. 24 3 27 T 39 I IHI/GS € IA T A9 21 I 24 g6 <o G g3 Ifder T 3t
27 5 & $50 € 13 &t It ?
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(¢) 6,000 Td (d) 3,000 JuT
60. & fide ©F otH3 400 33 J | HI& o% 18,200 JUT, 225 UET 3 35,000 TS
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Directions (Q. No. 61 - 62) : Refer to the following pie charts and solve the questions based on it.

8%

Percentage wise distribution of population Percentage wise distribution of land
of wild animals under forest cover
Following are the geographical regions : Al — Asia, China, India, A2 — Australia,
A3 — Africa, A4 — Europe, A5 — Russia, A6 — North & South America, A7 — Antarctica.
Population density = (Percentage Population of Animals) / (Percentage Land Area Under

Forest Cover)
61. Which two regions have the combined highest population density ?
(a) Al, A3 (b) A4, A5 (c) Al,A4 (d) A3, A6
62. If in the next 10 years, the population of wild animals in Antarctica will increase by
2:5% more than that in the rest of the world, what will be the percentage population
of wild animals in Antarctica after 10 years ?
(a) 95% (b) 10-5% () 157% (d) Cannot be determined
TENEST (YHS 32 61 - 62) : 15HE 6937 daTH & eylen’ 83T 3 nigiids YRaT € I& &9 /

A7

Al

11% 20%

Hardt Aa=at € Aanfimit & yFtasar migaa 23 Hag3 e wifls gt €t yItesar migaa €3
fors Faifea U39 76 : Al - THm, S, 393, A2 — MTACISMT, A3 — »iedldT, Ad — @Iy,
A5 —3A, A6 — 83Tt n3 TuTt niHdlar, AT - nisegafedr |
ASRAT WEIT = (F6ed! ©F YITHI AsRET) / (Fa%3 © mitts 3HT & y3iHs3)
6l. o= € 8397 & ' & A8 3 S0 AT wesT I 7
(a) Al, A3 (b) A4, A5 (c) Al,A4 (d) A3, A6
62. Hdd MacgafesT feg Ad® Ae=aT O AGHNT feg »idi® 10 A feg Ifd<t Tamit
&% 2:-5% [T TUT JeT J 3T Ad®I eI T »id® 10 A% g niscddieaT feg
AGHENT YStHS3T fAar J=a ¢ o L
(a) 95% (b) 105% (c) 157% (d) TAHIES &l 3T 7T HA!
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Directions (Q. No. 63 — 64) : Shown below
is a layout of major streets in a city :

Two days (Thursday and Friday) are left for
campaigning before a major election, and
the

requests from five political parties for

city administration has received
taking out their processions along the
following routes.

Congress : A-C-D-E
BJP : A-B-D-E
SP . A-B-C-E
BSP B-C-E
CPM A-C-D

Street B-D cannot be used for a political
procession on Thursday due to a religious
procession. The district administration has
a policy of not allowing more than one
procession to pass along the same street on
the same day. However, the administration
must allow all parties to take out their
procession during these two days.

63. Congress procession can be allowed
(a) only on Thursday.
(b) only on Friday.
(c) on either day.

(d) only if the religious procession is
cancelled.
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64.

65.

66.
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Which of the following is not true ? 64.
(a) Congress and SP can take out
their processions on the same
day.
(b) The CPM procession cannot be
allowed on Thursday.
(c) The BJP procession can only take
place on Friday.
(d) Congress and BSP can take out
their processions on the same
day.
Which of the following sentences is | 65.
correct ?
(a) Its finally a holiday, and my dog
is happily wagging its tail.
(b) Its finally a holiday, and my dog
is happily wagging it’s tail.
(¢) It’s finally a holiday, and my dog
is happily wagging its tail.
(d) It’s finally a holiday, and my dog
is happily wagging it’s tail.
When I met her last week, she seemed | 66.
to be the weather.
(a) over
(b) under
(c) against
(d) None of the above
(A-31)

foHs feg” faas st &t T ¢
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Which of the following sentences is

correct ?

(a) Its finally a holiday, and my dog
is happily wagging its tail.

(b) Its finally a holiday, and my dog
is happily wagging it’s tail.

(c) It’s finally a holiday, and my dog
is happily wagging its tail.

(d) It’s finally a holiday, and my dog
is happily wagging it’s tail.

When I met her last week, she seemed
to be

the weather.
(a) over
(b) under

(c) against

(d) None of the above
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Read the following passages and answer the
questions no. 75 to 78 below :

What is your ideal society if you do not want
caste is a question that is bound to be asked
of you. If you ask me, my ideal would be a
society based on Liberty, Equality and
Fraternity. And why not? What objection
can there be to Fraternity? I cannot imagine
any.... An ideal society should be mobile....
there should be many interests consciously
communicated and shared.... Democracy is
not merely a form of Government. It is
primarily a mode of associated living, of
conjoint communicated experience. It is
essentially an attitude of respect and
reverence towards fellowmen. Any objection
to Liberty? Few object to liberty in the sense
of a right to free movement, in the sense of a
right to life and limb..... Why not allow
liberty to benefit by an effective and
competent use of a person’s powers ? The
supporters of caste who would allow liberty
in the sense of a right to life, limb and
property, would not readily consent to
liberty in this sense, inasmuch as it involves
liberty to choose one’s profession. But to
object to this kind of liberty is to perpetuate
slavery. For slavery does not merely mean a
legalized form of subjection.... It is found
where, as in the Caste System, some
persons are compelled to carry on certain
prescribed callings which are not of their
choice. Any objection to Equality ? This has
obviously been the most contentious part of
the slogan of the French Revolution....
Equality may be a fiction but nonetheless
one must accept it as the governing
principle. A man’s power is dependent upon
(1) physical heredity, (2) social inheritance
or endowment in the form of parental care,
education, accumulation of scientific
knowledge, everything which enables him to
be more efficient than the savage, and
finally, (3) on his own efforts. In all these
three respects men are undoubtedly
unequal. But the question is, shall we treat
them as unequal because they are unequal?
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. It may be desirable to give as much
incentive as possible to the full development
of everyone’s powers. But what would
happen if men were treated unequally as
they are, in the first two respects ?.... It is
obvious that those individuals also in whose
favour there is birth, education, family
name, business connections and inherited
wealth would be selected in the race. But
selection under such circumstances would
not be a selection of the able. It would be the
selection of the privileged.... On the other
hand it can be urged that if it is good for the
social body to get the most out of its
members, it can get most out of them only
by making them equal as far as possible at
the very start of the race. That is one reason
why we cannot escape equality. But there is
another reason why we must accept
equality. A Statesman is concerned with
vast numbers of people.... The Statesman,
therefore, must ... treat all men alike not
because they are alike but because
classification and assortment is impossible.
The doctrine of equality is glaringly
fallacious but taking all in all it is the only
way a Statesman can proceed in politics
which is a severely practical affair and
which demands a severely practical test.

75. According to the writer, supporters of
caste would object to liberty in the
sense of
(a) right to free movement
(b) right to choose one’s profession
(¢) right to life and limb
(d) right to property

76. What are the three aspects in which

men are ‘undoubtedly wunequal,
according to the writer ?
(a) Physical heredity; Parental

property; His own education

(b) Physical appearance, Parental
inheritance; His own enthusiasm

(c) Physical strength; Social status;
His own spirituality

(d) Physical heredity;
inheritance; His own efforts

Social
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77. 1If selection is done on the basis of
birth, education, family name,
business connections and inherited
wealth, then it would be
(a) selection of the privileged
(b) selection of the able
(c) selection of the meritorious
(d) selection of the fortunate

78. Which of the following is NOT a
reason that the writer gives for
desiring equality in a democracy ?

(a) It makes people equal as far as
possible at the very start of the
race.

(b) It ensures that the preexisting
social equations continue.

(c) Statesmen deal with large
numbers of people who are too
vast to classify and assort.

(d) Statesmen require a practical
plan of action to proceed in
politics.

Read the following passage and answer

Question Numbers 79 and 80 with reference

to the passage by choosing the most

appropriate option :

Feminism at its core is about equality of

men and women, not ‘sameness’. So many

people offer up the argument that women
are not the ‘same’ as men and therefore
there can’t be equality. In other words,
because their bodies are different (many say
weaker or ‘feminine’), and because men and
women have different physical capabilities,
these physical differences mean equality is
not possible. If there were two young boys in
a classroom, and one was physically weaker
and smaller than the other, would we
believe it’s right to keep the weaker, smaller
boy from having the same access to the
teacher, to learning, to the computers, to the
books and class resources, to other children
in the class — because he didn’t have the
same physical strength as the other boy? It
is critical to understand that “same” does
not mean “equal.” The issue here is about
equal rights and equal access to
opportunities. Men and women don’t have to
be the “same” physically in order to have the
right to equality. Feminism as an ideology
has always been highly controversial. It
asks such questions as: do women have too
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much or too little power? It is not only
controversial as far as traditional defenders
of the status quo are concerned. Some
women feel that they are in favour of
equality with men, but do not like the idea
of feminism. It has been said that we live in
a post-feminist age and some contend that
the main goals of feminism have been
realized, so that it is quite unnecessary for
feminists to continue their argument
against male domination. Feminism,
however, is also controversial in the sense
that different feminists mean different
things by the term. There are different
varieties that seem to have little in common.
Just as writers have spoken of socialism, so
feminism has also been presented in the
plural in order to indicate the diversity
involved.

79. “It is critical to understand that

“same” does not mean “equal.™

What does this statement imply ?

(a) All men and women are “same”
but never “equal”.

(b) Only men and women who are
feminist can be “same” and
sometimes “equal”.

(¢) No man or woman can either be
“same” or “equal”.

(d) Men and women are not “same”
but can be “equal”.

80. “Men and women don’t have to be the
“same” physically in order to have the
right to equality.” Why ?

(a) Because the theory of feminism
promotes that men and women
are no longer in a classroom and
can have equal access to learning,
books and class resources.

(b) Because the theory of feminism
promotes that both men and
women are anatomically same
and therefore possess equal
mechanical strength.

(c) Because the theory of feminism
promotes that men may or may
not be feminists but they believe
in equal classroom learning.

(d) Because the theory of feminism

promotes that being “same”
cannot be equated with being
“equal.”
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